N S P L 17.05.2019
dams b 800mm Panel End Legs

Newton Desking

S

RM-INS071



BN
\
A=,

AT9INISSY HO4
d3diNDd34d S71001

\

14ITNVIN ¢
J71O9NHLS L.NOd

34VO HLIM SIN3LI
JFTANVH SAVMTY

JONVILSISSY HOd
T11VO 3HNSNN di

N3Ha1HO NOoYHd

AVMY SONILLIH n_m_m_v_\

(Q\l



Please check that you have all the components!

N

| Please check that you have all the hardware!

x1

¢ MOEDMMNIMMWIN

x4

— [ J
4mm Allen Key Confirmat Screw 70mm (Silver) Adjustable Foot Dia 25mm
RM-ALKO1 RM-CFMO04 RM-FRL19

M6x34mm Minifix Bolt
RM-BLTO7

x4

W)

)

Nylon M6x10 Socket
RM-PARO05

x4

(>)
=
=

15mm Minifix Cam
RM-CAMO3

- &

M8 Gesipa Insert
RM-NUTO04

x4

_




=)

Step 1
Place your desktop face down onto a

clean dry surface and knock the nylon
inserts into the pre drilled holes on
the underside of the desktop.

Nylon M6x10 Socket
RM-PARO05

v
x4 =

on the bottom edge of the panel end leg. the bottom of the panel end leg.
Repeat for both legs. l Repeat for both legs.

1 7

Step 2 Step 3 @
Knock in the gesipa inserts into the holes @ Screw the 25mm adjustable feet into

M8 Gesipa Insert Adjustable Foot Dia 25mm

RM-NUTO04 RM-FRL19
x4 | |||, x4
—~

~N




=4

Step 4
Insert the minifix cams into the

panel end leg. Ensure the fitting is
pushed all the way down and that
the arrow guideline is aligned with
the hole in the edge of the panel.
Repeat for both legs.

=i

.

|

15mm Minifix Cam
RM-CAMO03

x4

S

A\
=

Step 5
Screw the M6x34mm minifix

bolts into the nylon inserts
that you inserted in step 1.

M6x34mm Minifix Bolt
RM-BLTO7

x4

ISID))




=)

Step 6
Place the LH Leg onto the

desktop ensuring that the
cam fittings engage over the
minifix bolts. Once in place
tighten the cams to lock the
panel end leg into place.

Step 7
Line the back panel up with

the panel end leg ensuring

the pre drilled holes are in \
aligned.




Step 8
Attach the leg panel to the

back panel using the 70mm
confirmat screws.

/

Confirmat Screw 70mm (Silver)
RM-CFMO04

X2 G Oy

Step 9

Place the remaining leg onto the desktop ensuring that the
cam fittings engage over the minifix bolts. Once in place
tighten the cams to lock the panel end leg into place.




\

Step 10
Attach the leg panel to the

back panel using the 70mm
confirmat screws.

Confirmat Screw 70mm (Silver)
RM-CFM04

X2 (6 IR

Matching adhesive caps are provided to cover any visible screw heads or cam fittings.




	RM-INS071-PAGE 1
	Sheets and Views
	RM-INS071-PAGE 1


	RM-INS071-PAGE 2
	Sheets and Views
	RM-INS071-PAGE 2


	RM-INS071-PAGE 3
	Sheets and Views
	RM-INS071-PAGE 3


	RM-INS071-PAGE 4
	Sheets and Views
	RM-INS071-PAGE 4


	RM-INS071-PAGE 5
	Sheets and Views
	RM-INS071-PAGE 5


	RM-INS071-PAGE 6
	Sheets and Views
	RM-INS071-PAGE 6


	RM-INS071-PAGE 7
	Sheets and Views
	RM-INS071-PAGE 7


	RM-INS071-PAGE 8
	Sheets and Views
	RM-INS071-PAGE 8



